\$196,613.00



Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: September 2, 2025

	Contract ID Prime Contractor		3-D01 ca's Parking Remarking, LLC	Pay Period Start Pay Period End	August 2, 2 September		Original Contract Amount Net Change Order Amount Current Contract Amount	\$1,218,661.48 \$0.00 \$1,218,661.48					
Approval Date								By User					
September 2, 2025		Generated and Approved (and should be considered Draft) at the Project Office Level by fenecj1											
September 2, 2025			Reviewed	and Approved (and should	be considered	d Draft) at	the Resident Engineer Level by	stokez1					
September 4, 2025				Reviewed and Ap	proved at the	Central C	Office Controllers Office Level by	ramses1					
Original Comple	npletion Date Current Completion Date Actual Completion Date % of Current Contract Amo												
October 1, 2	2025		October 1, 2025				77.77%	6					
	С	ontract In	formational Dates				Milestones						
Date Description	Original Comple	tion Date	Current Completion Date		No Milesto	nes Exist	for Contract						
Acceptance Date													
Awarded Date	January 8, 2025		January 8, 2025										
Letting Date	December 13, 20	24	December 13, 2024										
Notice to Proceed Date	May 1, 2025 May 1, 2025												
Work Began Date	June 16, 2025 June 16, 2025												

Contract Total Pay	For Estimate No. 5				
		This Estimate	Previous	To Date	
241213-D01					
	Total Posted Items Pay	\$196,613.00	\$751,128.55	\$947,741.55	
	Gross Item Adjustments	\$11,692.01	\$0.00	\$11,692.01	
	Incentive	\$0.00	\$0.00	\$0.00	
	Disincentive	\$0.00	\$0.00	\$0.00	
	Liquidated Damage	\$0.00	\$0.00	\$0.00	
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00	
	-		\$751,128.55	\$959,433.56	
Contract Total Paya	able This Estimate:	\$208.305.01			

Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
JCD0097	0030	6205902A	$\boldsymbol{6}$ IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	LF	\$0.250	159,943.400	\$39,985.85
	0040	6205903A	6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	LF	\$0.180	130,884.400	\$23,559.19
	0050	6205906A	12 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	LF	\$0.300	5,188.800	\$1,556.64
Project JCD00	97 - Total						\$65,101.68
JCD0104	0800	6205902A	$\boldsymbol{6}$ IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	LF	\$0.250	359,092	\$89,773.00
	0090	6205903A	$6\mbox{IN}.$ YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	LF	\$0.180	215,123.200	\$38,722.18
	0100	6205906A	12 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	LF	\$0.300	10,053.800	\$3,016.14
Project JCD01	04 - Total						\$131,511,32

Contract Adjustments This Estimate

Overall - Total

No Contract Adjustments Exist on Contract

Line Item A	Adjustr	ments This Estimate						
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
JCD0097	0030	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	Other Item Adjustment	Retroreflectivity Adjustment	http://eprojects/Docs/CD0097/241213- D01_JCD0097_JCD0104_Retroreflectivity_Payment_Adjustment.pdf			\$6,148.21
	0040	6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	Other Item Adjustment	Retroreflectivity Adjustment	http://eprojects/Docs/CD0097/241213- D01_JCD0097_JCD0104_Retroreflectivity_Payment_Adjustment.pdf			\$5,321.00
	0050	12 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	Other Item Adjustment	Retroreflectivity Adjustment	http://eprojects/Docs/CD0097/241213- D01_JCD0097_JCD0104_Retroreflectivity_Payment_Adjustment.pdf			\$222.80
Total								\$11,692,01

Revision 9/2/2025 Page 1 of 7



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					Co	ontract Project Informa	ation								
Project Number	Federal Proj. Number	Project Description	Route	County			Location of Work								
JCD0097	IS 70-3(308)	Pavement marking	I-70	VARIOUS	on I-70 in Cooper, Boon	I-70 in Cooper, Boone, and Callaway Counties									
JCD0104	IS 44-2(352)	Pavement marking	I-44	VARIOUS	on I-44 in Laclede, Pulas	on I-44 in Laclede, Pulaski, Crawford and Phelps counties									
Totals b	y Job Nu	ımbers													
JCD0097	Posted Item Pay Gross Item Adjustments Gross Item Pay				This Estimate										
					\$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00								
JCD0104		l Item Pay Item Adjustme		Item Pay	This Estimate \$131,511.32 \$0.00 \$131,511.32	Previous \$455,414.15 \$0.00 \$455,414.15	To Date \$586,925.47 \$0.00 \$586,925.47								
					\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00								

Revision 5/29/2025 Page 2 of 7



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project JCD0097, Item 6205902A, Project Item Line Number 0030, Material Set 6205902A96, Material 0620PMLI - Pavement Marking Performance Line, Acceptance Action Generic 0620PMLI is insufficient.	Working with contractor and materials to resolve.	fenecj1	Overridden
Estimate Exception Type: Insufficient Materials: Project JCD0104, Item 6205902A, Project Item Line Number 0080, Material Set 6205902A96, Material 0620PMLI - Pavement Marking Performance Line, Acceptance Action Generic 0620PMLI is insufficient.	Working with contractor and materials to resolve.	fenecj1	Overridden
Estimate Exception Type: Insufficient Materials: Project JCD0097, Item 6205903A, Project Item Line Number 0040, Material Set 6205903A96, Material 0620PMLI - Pavement Marking Performance Line, Acceptance Action Generic 0620PMLI is insufficient.	Working with contractor and materials to resolve.	fenecj1	Overridden
Estimate Exception Type: Insufficient Materials: Project JCD0104, Item 6205903A, Project Item Line Number 0090, Material Set 6205903A96, Material 0620PMLI - Pavement Marking Performance Line, Acceptance Action Generic 0620PMLI is insufficient.	Working with contractor and materials to resolve.	fenecj1	Overridden

Revision 5/29/2025 Page 3 of 7



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

tract	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
213-	JCD0097	0001	0010	6161005	CONSTRUCTION SIGNS	50.00	0.00	50.00	SQFT	41.00	\$1.00	\$41.00
		0001	0020	6181000	MOBILIZATION	1.00	0.00	1.00	LS	0.36	\$125,000.00	\$45,500.00
		0001	0030	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	818,386.00	0.00	818,386.00	LF	781,097.00	\$0.25	\$195,274.25
		0001	0040	6205903A	6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	655,973.00	0.00	655,973.00	LF	627,358.00	\$0.18	\$112,924.44
		0001	0050	6205906A	12 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	24,228.00	0.00	24,228.00	LF	23,588.00	\$0.30	\$7,076.40
	Project JC	D0097 - To	tal Value	Posted to D	Date as of Report Generated Date							\$360,816.09
	JCD0104	0001	0060	6161005	CONSTRUCTION SIGNS	57.00	0.00	57.00	SQFT	41.00	\$1.00	\$41.00
		0001	0070	6181000	MOBILIZATION	1.00	0.00	1.00	LS	0.61	\$125,000.00	\$76,500.00
		0001	0080	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	1,587,996.00	0.00	1,587,996.00	LF	1,270,188.00	\$0.25	\$317,547.00
		0001	0090	6205903A	6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	1,269,623.00	0.00	1,269,623.00	LF	1,013,477.60	\$0.18	\$182,425.97
		0001	0100	6205906A	12 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	43,611.00	0.00	43,611.00	LF	34,705.80	\$0.30	\$10,411.74
	Project JC	D0104 - To	tal Value	Posted to D	Date as of Report Generated Date							\$586,925.71

Revision 5/29/2025 Page 4 of 7



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work,

Project: JCD0097

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Posting Sequence No.	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0030		6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT	8/26/25	8/27/25	1	155,288.40	LF	Releasing 20% held pending retro results.					
		MARKING PAINT, TYPE L BEADS		8/27/25	2	4,655.00	LF	Within 10% of plan, paying plan					
0040		6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT	8/26/25	8/27/25	1	124,118.40	LF	Releasing 20% held pending retro results.					
		MARKING PAINT, TYPE L BEADS		8/27/25	2	6,766.00	LF	Within 10% of plan, paying plan					
0050		12 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT	8/26/25	8/27/25	1	4,599.80	LF	Releasing 20% held pending retro results.					
		MARKING PAINT, TYPE L BEADS		8/27/25	2	589.00	LF	Within 10% of plan, paying plan					

Project: JCD0104

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Posting Sequence No.	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
80	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT	8/22/25	8/27/25	1	19,328.00	LF	I-44 WB center skips	166.900		181.498		
		MARKING PAINT, TYPE L BEADS		8/27/25	2	-3,865.60	LF	Retain 20% pending retro results					
				8/27/25	3	26,884.00	LF	I-44 EB, center skips	111.737		131.900		
				8/27/25	4	-5,376.80	LF	Retain 20% pending retro results					
			8/23/25	8/27/25	1	118,339.00	LF	I-44 WB, white edgeline	147.782		170.400		
				8/27/25	2	-23,667.80	LF	Retain 20% pending retro results					
				8/27/25	3	17,859.00	LF	I-44 EB, center skips	131.900		145.499		
				8/27/25	4	-3,571.80	LF	Retain 20% pending retro results					
				8/27/25	5	53,856.00	LF	I-44 EB, white edgeline	135.535		145.499		
				8/27/25	6	-10,771.20	LF	Retain 20% pending retro results					
			8/24/25	8/27/25	1	59,120.00	LF	I-44 WB, white edgeline	170.400		181.498		
				8/27/25	2	-11,824.00	LF	Retain 20% pending retro results					
				8/27/25	3	125,639.00	LF	I-44 EB, white edgeline	111.737		135.535		
				8/27/25	4	-25,127.80	LF	Retain 20% pending retro results					
			8/26/25	8/27/25	1	13,998.00	LF	I-44 WB Ramps, Lacelede Co	147.782		181.498		
				8/27/25	2	-2,799.60	LF	Retain 20% pending retro results					
				8/27/25	3	15,147.00	LF	I-44 EB Ramps, Laclede Co	111.737		145.499		
				8/27/25	4	-3,029.40	LF	Retain 20% pending retro results					
				8/27/25	5	-1,044.00	LF	Total pay on this line item is within appreciable error. Paying plan quantity.					
090	6205903A	6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT	8/22/25	8/27/25	1	77,040.00	LF	I-44 WB, yellow edgeline	166.900		181.498		
		MARKING PAINT, TYPE L BEADS		8/27/25	2	-15,408.00	LF	Retain 20% pending retro results					
				8/27/25	3	107,194.00	LF	I-44 EB, yellow edgeline	111.737		131.900		
				8/27/25	4	-21,438.80	LF	Retain 20% pending retro results					
			8/23/25	8/27/25	1	71,973.00	LF	I-44 EB, yellow edgeline	131.900		145.499		
				8/27/25	2	-14,394.60	LF	Retain 20% pending retro results					
			8/24/25	8/27/25	1	1,350.00	LF	I-44 WB, ramps	170.400		181.498		
				8/27/25	2	-270.00	LF	Retain 20% pending retro results					
			8/26/25	8/27/25	1	11,274.00	LF	I-44 WB Ramps, Laclede Co	147.782		181.498		
				8/27/25	2	-2,254.80	LF	Retaining 20% pending retro results					
				8/27/25	3	13,953.00	LF	I-44 EB Ramps, Laclede Co	111.737		145.499		
				8/27/25	4	-2,790.60	LF	Retain 20% pending retro results					
				8/27/25	5	-11,104.00	LF	Total pay on this line item is within appreciable error. Paying plan quantity.					
100	6205906A	12 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	8/24/25	8/27/25	1	275.00	LF	I-44 WB, mainline side of gore stripes	170.400		181.498		
		WARRING FAINT, TIPE L BEAUS		8/27/25	2	-55.00	LF	Retain 20% pending retro results					
			8/26/25	8/27/25	1	6,424.00	LF	I-44 WB Ramp Gores, Laclede Co	147.782		181.498		
				8/27/25	2	-1,284.80	LF	Retain 20% pending retro results					
				8/27/25	3	7,012.00	LF	I-44 EB Ramp Gores, Laclede Co	111.737		145.499		
				8/27/25	4	-1,402.40	LF	Retain 20% pending retro results					
				8/27/25	5	-915.00	LF	Total pay on this line item is within appreciable error. Paying plan quantity.					

The information below this line are details for Construction Signs (if applicable). No Data Available

Revision 6/5/2025 Page 5 of 7



Line Item Adjustments by Estimate

Contract ID: 241213-D01

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
JCD0097	0010	CONSTRUCTION SIGNS	Material		2	Jul 1, 2025	SYSTEM	(\$40.75)	
					2	Jul 1, 2025	SYSTEM	\$40.75	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user fenecj1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0010 -	Total						\$0.00	
	0030	6 IN. WHITE HIGH BUILD WATERBORNE	Other Item Adjustment	REFL	5	Sep 2, 2025	fenecj1	\$6,148.21	http://eprojects/Docs/CD0097/241213- D01_JCD0097_JCD0104_Retroreflectivity_Payment_Adjustment.pdf
		PAVEMENT MARKING		REFL - Tota				\$6,148.21	
		PAINT, TYPE L BEADS	Other Item /	Adjustment -	Total			\$6,148.21	
	0030 -	Total						\$6,148.21	
	0040	6 IN. YELLOW HIGH BUILD WATERBORNE	Other Item Adjustment			Sep 2, 2025	fenecj1	\$5,321.00	http://eprojects/Docs/CD0097/241213- D01_JCD0097_JCD0104_Retroreflectivity_Payment_Adjustment.pdf
		PAVEMENT MARKING		REFL - Tota				\$5,321.00	
		PAINT, TYPE L BEADS	Other Item /	Adjustment -	Total			\$5,321.00	
	0040 -	Total						\$5,321.00	
	0050	12 IN. WHITE HIGH BUILD WATERBORNE	Other Item Adjustment	REFL	5	Sep 2, 2025	fenecj1	\$222.80	http://eprojects/Docs/CD0097/241213- D01_JCD0097_JCD0104_Retroreflectivity_Payment_Adjustment.pdf
		PAVEMENT MARKING		REFL - Tota				\$222.80	
		PAINT, TYPE L BEADS	Other Item /	Adjustment -	Total			\$222.80	
	0050 -	Total						\$222.80	
JCD0097	- Total							\$11,692.01	
Overall - 1	Total							\$11,692.01	

MoDOT

Contract Adjustments for Contract - 241213-D01

There are no contract adjustments to display for this contract.

Revision 5/29/2025 Page 7 of 7